PLASTICADE® RUBBER BASE
PORTABLE POST SIGN STAND

Hardware Provided:

3 ea. Hex Bolt Zinc 3/8 x 2-1/2
2 ea. Washer 3/8

3 ea. Locknut 3/8-16

1 ea. Black Vinyl Cap

To secure post to base: use 1 hex bolt and 1 locknut
To secure sign: use 2 hex bolts, 2 locknuts, and 2 washers

Not Provided: Underside of Base.
Rubber mallet (needed for 60 Ib. and 90 Ib. bases) With Post Installed

INSTRUCTIONS

1. Insert square post (end with holes on all four sides of post) in the rubber base square hole. You may need to
use a rubber mallet to ensure post is inserted all the way down to the ground.
2. Use one 3/8 x 2-1/2 hex bolt and one locknut to secure plastic post to rubber base at underside of
base (see photo). Use post hole that is 17 up from bottom of post.
3. Add Vinyl Cap to the top of the Power Post to help prevent water from entering.
4. Use two 3/8 x 2-1/2 hex bolts, two washers, and two locknuts to attach sign.

Plasticade.com Part #8286 Rev. 4




